5. Emmet deposits $650 in a savin

: . 8s account with 8% interest com
Maggie deposits the same amo pounded quarterly.

untin another savings account with 8.2% interest
compounded semiannuall .
y. If both Emmet and Maggie leave their i
g~ accounts for 2 ye " moeyinthe

A= S0 ( (40,08 qgﬁrs, which account will have the greater final balance?

nd rﬁ:' 0,0 .
A- 16(.c39541 3 A= ::ﬁg_{g;gggzz; 4! Emwet ﬁ%!;‘;&l

6. te i .
If $800 is Invested at 8% interest com?unded continuously, how long will it take before

the amount is $900? 90=200L-° 2(9¢) = pe2 0Tt £=0n() {43 years ]

gt:ems# () o0t 0.08

7. Alaptop purchased for $800 decreases in value by 20% each year. How long will it take

. b&frc‘)re the ‘I_a_Etgp to be worth $350? 230 < 800(1 -$5)'¢ ouife) = a0 8"
e \:“_ti *.\1?-& Vv \g‘]f’arﬁ 1< o —— *_E ‘.'"__(_O‘_g_’tb__ :QHH,W)‘“ Rl

8. Hugo deposits $200 in a savings account with 0.3% interest compounded quarterly.
Grace deposits the same amount in another savings account with 0.3% interest

.

compounded semiannually. If both Hugo and Grace leave their m 1 the accounts
. for 3 years, which account will have the greater final balance? i iﬁt’. bolanices m
ki A-z00()40p03) 1 o1 A= 20001+ %0323 be He same,
A= 201, 80344 3, A= 201,800 T 03
¥701, 2 $201.2
6.6 MORE APPLICATIONS OF EXPONENTS AND LOGARITHMS

1. The half-life of Cesium-137 is 30.2 years. If the initial mass of the sample is 15 kg, how
i i A=I5(%)" @2
much will remain after 151 years? B
A=0.463%5 (0.dbakg]
2. Myerstopia has a population of 6000. After 10 years, the population has increased

exponentially to 7183 pepJJIe. How many people will be living in Myerstopia after 23
#8327 0000(0) ¢ = AW y = 600D( D815 8L 6S 23
o0

yearS? e s
3 10 oy
e i b= LOI8SRees Y= T0Fe. B8R lﬁﬂlmaﬁc\

3. A loaf of bread that currently sells for $3.60 sold for $3.10 six years ago. At what rate
has the cost of the loaf of bread increased each year?

3.0 - 3.10 (D) ey =il
ei2a0373 e O VEE = Lo2s2

4. A diamond ring currently worth $3000 increases in value by 8% each year. What is the

value of the ring in 50 years? |~ 3000 (.01 )*° lsl‘{'O, FoH, 84
N= 1HOFHEIFS
5. Carbon-14 has a half-life of 5700 years. Find the age of a san_'lple_a,t which 22% of the

: oy A= 8) 530
dioactive nuclei originally present have decayed 10S.1AL
ra}a€= 100(\%”5% og.%s = f%)w, n (0.86)= 5 (o) . l.;ns {rkz.z | M
Ln(0.38) - en () 5o = (08,
6. A population of 100 rabbits a(re living on an island. After one year, the rabbit population

has increased exponentially to 500 rabbits. What will the population be after another 6
months? 5°°7 199(b)’ = loo(s)>

5 b {= 1118.0339¢ 9

(11 valloits \ - R




7. Carbon-14 has a half-life of 5700 years. Consider a sample of fossilized wood that when

alive would have contained 24g of C-14. It now contains 1.58. How old is th samgle? _
5= x5 40 OULS~ In(2FSYR X a1 P80 |
II

i " "-".‘\XIS:‘OTJ ; B
WO T I \Z) 0.00125 (%) P o
LS = %G00 0 (g .
8. The half-life of a radioactive element is 133 days, but your sample will not be useful to
you after 65% of the radioactive nuclei originally present have disintegrated. About how

many days can you use the sample? . %= v (0,5) *133

4t A\ i & -:.L ._ﬂ;/\@‘g—
0.US - ('%.},t.f‘\gg dn(0.05) = {33 o g&,ws'q.qs'xnl

6.7 COMBINATIONS AND COMPOSITIONS OF FUNCTIONS
If f(x) =x%—-1,g(x) =2x-3,and h(x) = 1 — 4x, find the following functions, as well as

any values indicated.
5. (g-h)(x) =(1X*3)(1"4K) :

1 (f —9)(x) = K-1)-(2x-3 ~”2+
e S ?-’HB) Rt Ix~€x* -3 +\2%

)

2. (f - g)(3) = (3-2(3) 42 :\E] 6. (g-h)(4)="% Wi+m) -3 =|-35

T RTT T . . f D
3. (f+h)®) ;z‘_j"j};ﬁﬂ -dx o7, (g)(x) 2=
4. (f +h)(=2) = (2" -4¢2) 412 T 2
8. (L)-n=6=. o .15
(9) 269-3 g E-

Let f(x) = 2x — 1, g(x) = 3x, and h(x) = x* + 1. Compute the following:
0. fa®) = 239 -1 =[x =1} 12/(g-3) =2 (5 3‘{);— L
10.(h o g)(x) =(3x)°+ = "ﬁf;l 13.g (f(h(_ﬁ))) LY
hito) = o)+ = 3%
JLA(F@) = (2-a -1+ =290 ;tts;gfgj;; i

For #s 14 & 15, h(x):(fog)(x)

14. Let h(x)=+x-5 and f(x)= Jx, find g(x) g(ﬂ "X"S |
15. Let h(x) = (5x + 1)2 ~(5x+ 1) and f(x)= x* - x, find g(x). s{x}' Sx+l




